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General Instructions :
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306

This question paper contains 33 questions out of which the candidate
needs to attempt only 25 questions.

Question paper is divided into two sections.

SECTION A ;.

*  Multiple choice questions / Fill in the blanks/Direct questions :
contains total 12 questions of 1 mark each. Answer
any 10 questions.

e Very short answer type questions : contains total 7 questions of

2 marks each. Answer any 5 questions.

Short answer type questions : contains total 7 questions of 3 marks

each. Answer any 5 questions.

SECTION B

Long answer | Essay type questions : contains total 7 questions of 5 marks
each. Answer any 5 questions.
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SECTION A
PART I

Hid/agfameda Te

Direct/Multiple Choice Questions

Attempt any ten questions.

1.

3.

6-
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‘Tehel HA AR I qieATS ST |

Define ‘Gross Total Income’.

ar 80 @, 80 d.AE. @ 80 AL (1) F F=wia AfHaH IFEhH
(FaTAIBTET) FHEXd F B ? \
What is the maximum qualifying deduction under Sections 80 C, 80 CCC,
and 80 CCD (1) ?

‘et o’ o1 71 g 2 2

What is meant by ‘Assessment Year’ ?

=7 frern % fore, form o o W ST e A R 2

What is the deduction in respect of interest on loan taken for higher
education ?

T 1 Tl wfed § e W A | A Bl TE 2l |
(%) 5,000 (@) 10,000
() 15,000 (=) 20,000
TDS is not deducted on winning a lottery up to the amount of ¥
(a) 5,000 (b) 10,000
(c) 15,000 (d) 20,000
b
2f2 4 (PAN) =& fm sw, < iRl % fore dia w R Fd B AW R
(%) 5% (@) 10%
(M) 16% (") 20%
The rate of TDS on securities if PAN is not furnished, is
(a) 6% (b) 10%
(c) 15% d 20%
3 P.T.O.

1x10=10



10.

306

YR 3TreRt arfurfaem, 1961 st - a1 8 (PAN) ¥ geafm 2 2

(%) 139% (@) 140%

(1) 147% (") 154

Which Section of the Indian Income Tax Act, 1961 deals with PAN ?
(@) 139A (b) 140A

(c) 147 A (d) 154

of ®9 @ Sh.ww &, A e % G 6 T off
(%) T TS =

(@) fooa e o B

(1) Sit.ea.d. gfieg

(7) wEE fag i

Full-fledged GST was recommended by

(a)  Raja Chelliah Committee

(b)  Vijay Kelkar Task Force

(c) GST Council

(d)  Manmohan Singh Commission

Sit.wq. 2. wEf @ R 2

(%) S qon R o5 F afifer goed wi §

(@) faferm w57 % stfafes goeg v &

() AT ST % ST GEE Re &

(¥) o9& 9rg o

Where is GST applicable ?

(a)  All over India except the State of Jammu and Kashmir
(b)  All over India except the State of Sikkim

(c)  All over India except the State of Meghalaya

(d)  All over India

fomat 1 o7 w9 T 2 2

(%) =m (@) @

(m) e (7) 3w wf
When does a Quarter end ?

(a) March (b)  June

()  September (d)  All of the above
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11, &3l W 3 YraE 6 a1 He B B 2 1
(%) mgfd & 999
(@) AYfderal & U8 IEG3 h Tgad W
() i AR Fd TwE
(7) 3G H H I T
When does the liability to pay tax on goods arise ?
(a) At the time of supply
(b) At the time when goods reach supplier
(¢) At the time of preparing invoice
(d) None of the above
12, S.uE. . g g 1
(%) W (PAN) 3mri@ (@) urEure s
()  SMYR TG () S0 | ¥ g @I
GST registration is
(a) PAN based (b)  Passport based
(¢)  Aadhar based (d) None of the above
T 11
PART II
arfa oy Suda a9
Very Short Answer Type Questions
=i uta gl & 3 AT | 2x5=10
Attempt any five questions.
13. i % nyurye i s g feoaeft fafa | 2
Write a short note on the basic rules for deductions.
14, Sh.eméd. 6 v wren S Ao F s=na 72-adig 19 e fifaw

306

F T 22,000 T g AT T 1,000 H TE YA TE 2017 § TR | 39w
TSt =1 YA wE % w@ed s % g R T e | w80 € % s
g feraft et o fore umer g 2 2
Ravi, aged 72 years, paid medical premium of ¥ 22,000 by cheque and
¥ 1,000 by cash during May 2017 under a medical insurance scheme of

GIC. The above sum was paid for insurance of his own health. How much
amount would he be entitled to deduction under Section 80 D ?

5 P. 1.0
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15.  mEeR rfufaem, 1961%Wh‘am’ﬁtr&mmaﬂﬁﬂu 2
Define ‘Income’ under Income Tax Act, 1961.

16. aﬁawmw?ﬁﬁﬁafhaﬁﬁﬁﬁq-@ﬂé? 2
What are the due dates for deduction of TDS ?

17. gyt fred’ 1 afamr @ | 2
Define ‘Defective return’,

18. ﬁ.w.ﬁ.mﬁﬁw%mﬁmﬁ’www%? 2
What is meant by ‘Services’ under the GST Act ?

19. ‘THSwEA. ) i S 2
Define ‘SGST’.

W I
PART III
WY IniT wew
Short Answer Type Questions

fondi wter ol & 3o difv | 3x5=15

Attempt any five questions.

20. éﬁ@ﬁzﬁwﬁwmﬁm%@ﬁm%? 3
How is the interest calculated on late filing of return ?

21. ?ﬁﬁéﬁ%mwmm@mwﬁmaﬁwﬁﬁmw

| 3
Name the heads under which income of the tax payer is classified.

22, Wﬁmﬁaﬂéﬂmﬁﬁaﬁmﬁﬁnl 3
Discuss tax liability of an ordinary resident.
éq(TAN)w%amuaﬁq(PAN)ﬁﬁmwﬁa%? 3
What is TAN and how it is different from PAN ?

24.  39-919 foqet s Afewer ©R wom & | Rl 99 2017 - 18 ¥ @R %1 fisra
(FAR) = 40,00,000 o1 | 9% @ @ = 2,60,000 % g N FT Tar
A | T T A HFyTaE % fre seeerh 2 o 3
Vipul (aged 39 years) is running a medical store. The turnover of the store
for the financial year 2017 — 18 amounted to = 40,00,000. His accounts
revealed a net profit of 2,60,000. Will he be liable to pay advance tax ?
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25. S % F=rid B-A T i v o F e # afiepa fora man @ 9 3

Which States have been categorized as Special Category States under
GST ?

26. f.um.dl. srfufem & swmia Segeil’ w1 = adf # 2 8
What is the meaning of ‘Goods’ under the GST Act ?

@ Usd
SECTION B

FauTes wv=
Essay Type Questions

Tond at=r gl & I AfS | 5x5=25

Attempt any five questions.

27. 1990 § = Ak H @A 9Tt Th FAYEE, v, 19.02.2015 =i Tt framg &g
WA MY TS | Wt e ifufem & fafim sraasi % sman frafor o
2017 — 18 % o v <Y frame feufy ) smeme | 5

Shama, a non-resident, residing in New York since 1990, came back to
India on 19.02.2015 for permanent settlement. Explain the residential
status of Shama for the Assessment Year 2017 — 18 in accordance with
the various provisions of the Indian Income Tax Act.

28. 9N 87 % % 3=riq ge (fee) & gefta wraum! i iy S | 5

Define the provisions relating to rebate under Section 87 A.

29. Toriw a¥ 2016 - 17 &% fow 429l e 3 a9t aw 9o faw 6

frafefaa sl seqa 1 #
feremor ufyr (2 1)
HGET § AT 6,50,000
b S ¥ v s ) s 35,000
il (GRa) S W s 15,000
gree wfasy fify (d.dus.) @@ @ == 30,000
grae gfosy Ay (f.dus.) @@ 3§ s 50,000
forftr a8 2016 — 17 (Raftor af 2017 - 18) % R 35t = T3ar 1 TmE
ISl 5
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Vijaya, aged 42 years, submitted the details of her income and
investment for the financial year 2016 — 17 as under :

Particulars Axgiu; 1);
Income from Business 6,50,000
Interest from Fixed deposits with Bank 35,000
Interest from Security deposits 15,000
Interest from Public Provident Fund (PPF) Account 30,000
Deposit in Public Provident Fund (PPF) Account 50,000

Calculate her income tax liability for the financial year 2016 — 17
(Assessment Year 2017 — 18).

30. 20 famwr, 2016 H fhA T g1 H, 45997 UH FaTAh = W TR Fhee
T FH A T 6,50,000 TR e HI T HR W F & | FEE g ®W
HIE W HAA T B 1 | fod af 2016 - 17 § 3EH I ¥ 39 oW
¥ 8,45,000 ot | 3T9 FA T 1,80,000 % faftm Faw woi@i g s=w Y, &
T 80 71 % HA=wid e % forw wmer & A 5 5, 2017 1 I I @
< wiferEt % fTT T 15,000 &1 Y R | Fafor ¥ 2017 - 18 % R
ITeh! L AT [T HIfT | 5

A salaried individual, aged 45 years, was awarded a car of market value
T 6,50,000 by his credit card company in a draw on 20th December, 2016.
There was no TDS by the company. He has total income from salary of
< 8,45,000 in the previous year 2016 — 17. He saved a total of 1,80,000
under different investment instruments eligible for exemption under
Section 80 C and ¥ 15,000 was paid by him on 5P January, 2017 towards
his health insurance policy. Find his tax liability for the Assessment Year

2017 - 18.

31. wwd Ruffed F F Jzar 6 A FA F R T () $aR Hif | 5
Draw the format for computing the tax liability of an individual assessee.

32. ¥Rd d Sh.wa.d. hi g fmvaneit i fd=m Fif | 5

Discuss the salient features of GST in India.

33. SN.wHA. % sr=id wge G & @A & ol A whE B RRem AR | 5

Discuss the advantages and disadvantages of having multiple tax rates
under GST.

306 8



